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1. [Z2I8 /HESS3AH]I2S NS S0 : 5 000,000
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1. DIZEAE [ HSE225H]2HDEAY HAXEE : 500,000
4220
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I DIESAE /HSE=28H]2RDEAL 2RSESEH| 1 400,000
OF 2HDESAIY 2R SEL2H] : 400,000
4229
INF=ESE= 11,206 11,106 100
(. [Z2E /HIS223 M EUNS0#EASS 10,144,000
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3. [DIZEAE [ HE225H]2E 2442 : 1,000,000
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29| 785,100 813,100 A 28,000
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2. [ABSXKAE / HHIEZEZ2FH]ADE ZTEAAE A= QEAHME : 150,000,000
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1. [CHet® / HISS 23S ATAHSUEE : 1,000,000
2. [YATE /HISSI3IH L SZD 1 33,000,000
3. [YAFAE /HISSSSIH]NSHZD : 140,000,000
Jh Z % XA A 90,000,000
Lt D423 : 10,000,000
Ch JIEF XIBTZ D © 40,000,000
4. [H8H9 / HIS= 38 ]XISIZ 1 : 2,000,000
5. [YATAEY / HISS2IH]AHE : 69,175,000
6. [Nt / BIS= 23142 : 825,000
7. [QAIHE [ HIS=28 ]IS : 62,000,000
8[43t / HIS= 2321019 E : 3,000,000
9. [YATE /HIS2233IH]=2AZD : 91,600,000
10. [YAIREFE / BIS =352 ] 2| : 5,000,000
11. [CH8tl / IS =28 H]S®YI 1 1,500,000
12, [YAFAE /HISSISIH]LEES : 107,000,000
13. [CH8t® / HISS2EH]LAEL ¢ 1,500,000
14, [ANFE / HISS23IH]EZH : 40,000,000
15. [CH&tl / HIS=2& H]ZFYI 1 1,000,000
16. [UAFE / HIS=23I2] 5t £241:10,000,000
17. [YAIHEE [ HIS= 23| H ]S S22 S| © 30,000,000
Oh 22 S [LAFE] 1 30,000,000
18. [JI=&AE / BIS=35H]2 2l : 1,000,000
19. [ArStEI22l / BIS =35/ H] A 228 © 3,000,000
20. [J1=E g u%%awuammﬁ 22 £ 18,000,000
Jh B2 A HE: 6,000,000
Lt. DCU-USU §¢§$Wo £ 37}: 1,000,000
Ch DCU-USU =48t/ 31 2 14|: 1,000,000
21, (YA /HIS=28]JIELZ 2| : 19,000,000
22. [LhSHR / HIS= 232100l A48 2r2lbl : 1,500,000
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S ALK 2,000 2,000 0
1. [DIEsNE /HSE2H]ZSREDE FAHMZA 1,000,000
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4300
oA, 3,988,795 3,559,630 429,165
st 4310
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4. [823 XS /HISSSIAAH]ANEZEAAY F= A7 =&Y 1 25,000,000
Jf g3 s /I =& 120,000,000
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Ct. 22Xt 18101 &t 2™ : 5,000,000
ct. E2XtH 280] &Hl2® 1 5,000,000
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. [DCURI2HIE / BISZ2 8] 01012 SH4l2s : 34,750,000
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ct. FAtE+ 2 =23 #8 3,421,130
Ot. JIE+& bl : 143,600
. [DCURIZHIE / BISS 28] 010142 : 44,290,000
Jb, @Eetel W= 115,853,160
Lt Wit= 29 : 8,400,000
Ct. X9 HIEE 14,040,000
ct. & 00 : 5,722,840
0. JIELEHI : 274,000
CDIFEAE /HIS=2800 4B A& 4,055,000
[+USHE /USSR H]NAZ IR LS RES A : 32,200,000
Jb J12 €dl3 1 14,000,000
Lt. &5 B0 A 1 3,600,000
Ch. AIZHHI & & s 2Zhl @ 7,800,000
ch Mt & as 234l @ 4,800,000
0. J1Et&Hl : 2,000,000
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9. [YANEZE | UIS=3aH]EEY : 0
10. [YAIFFE / BISS 25 ]IIEHERY 1 0
11, [QAITSE /HISSSSIH]2TEAO LRE : 1,000,000
4400
mE LI 5,000 5,000 0
4420
JIE DS LIS 5,000 5,000 0
4421
SN 5,000 5,000 0
I, [Z2Y / HISS3SH]HEANAE S=3 8= : 5,000,000
4600
ollE1 | 30,000 20,000 10,000
4610
CEIEL 30,000 20,000 10,000
4611
Rl 30,000 20,000 10,000
1. [DI==AE / BIS= 25 A AL 0EI8] : 30,000,000
1200
SX 2 DI 134,256 134,256 0
X&t WYX &
1220
SXRHATI 2 1 1 0
1229
JIEHFE RHAFAX = 1 1 0
I [DI=sAE [ BISE2E A B2ER ¢ 1,000
1240
JIEFRHA T 2 1 1 0
1242
AN BEZE 1 1 0
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Lt. 2016stH & %‘jPé*l‘ﬁ MOl Xl = 16,975,000
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UQEIRD|IZ MY 7,417 7,417 0
1. [Zelg / HIS=38H]LASIRIIB : 7,417,000
o, GIZ0IKE ORI : 7,417,000
1266
AoDIEDIE HEY 19,743 19,743 0
1. [Z2IE / HIS=23H]Q2IIIEDIZ 1 19,743,000
Jb 2LJIEII= 19,743,000
1300
DE 4
N X &
1310 5,150,616| 5,137,011 13,605
DHO'Ilg 5,150,616 5,137,011 13,605
1311
EX0 3,011,000 3,011,000 0
. [ERE /HISS3SA]IEX0NEY : 3,011,000,000
1313
== e 1,600,000 1,600,000 0
. ([ERE /UHSE3dH =22 22 3 A 1,600,000,000
Jb. =2 e|228&: 1,000,000,000
Lt geldlole & XI: 600,000,000
1314
JIHIIF 12,000 12,000 0
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3. [D1Esag JHEZE2SHITZZE JIHIIF 1 9,565,000
1315
o83 e 525,605 512,000 13,605
1. [ERE /HSE2FH IR EIIHIZE: 0
O nsstdisdaad &I :0
2. [MEtEE JHISEE2FH]UAS =HTZ EIIHIE : 2,000,000
3. [RHNSHSLR /HEE2SH ]2 = 23 XHAFR0H : 2,200,000
4, [B23IXKAE /HSE23H]IADIE ZTEAAE : 500,000,000
5. [DCUXIZAEH /HIEEZ23HIAEASIIA : 14,025,000
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1317
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OlAIZ X101 & X2 35,471 62,225 A26,754
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